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Compass Practice

1) If AB=D —3AM,and D =12, AB = .62, Find AM (03 = 1d -~ 2B%A \AM'

. Qulod by 3-01r4 [0
2) Flnd]—5—312£(7 3‘0\&)2 344 = Bl G-3rY \__Ql_]

3) If det[z ]_ad be, find det{ ]L‘:il

4) IfrAb=3r-b, find xif 4Ax=12  34) -A=\o @,OJ‘

5) Find the dif ference in temperature from 32°to —24° L_J—“'j

6) Expand (x? + 2x + 4)(x? + 3x — 2) K +8x 2+ 4%+ f”’ﬁ:(!

7) Ifx%+ 3x+k =0, fmdszx 2 k=-H-6b=]1 -fﬂlD\

8) Factor fully 16x%y® — 20x%y® + 6xy3| QA\J {9 mMg’H B

9) If6(x—2)—(2x— 3)——(x—3) 2(x+4)andfmd5x”'é$£l \

10) Findaifw= -3 for a=w?—-w—4 =9 +2- Lt(i) [q

11) Simplify 32 V2 [= .

12) If R = M(D - W), find D if R = 4M_-W_—2”‘1 3,33 |
13) Slmplzfy,thenFactoryourresult(3xj—Z)(x 4) = (=2x* +3x — 14) \(5/( 3}(/&“” x

14) Factor fully 12x*y — 32x3y + 16x yt-ié&}—(?;{ -I!);u L)) - 7 a“* _NT'
|

15) Simplify, write answers fractional exponents W \ 5_3.‘,‘,4},“.\, N A

16) Simplify, write answers as a radical \/Bxy_‘*_zg £ qul m’g? ;

17) Whena = 4,b = 2 find 2av/4b —3b+2a + avi8a - { /,37"(;;'\

18) Expand (4~ V2)(3 ~v2) 14~ -5\ - —
19) Find a slope parallel and a slope perpendicular to a line through (2,4)and (5, 6)L T_.l‘s

20) Solve a® if 3+1 L,(f ‘} s e g
21) If Mzke]ordan is 6.5 ft tall and 1.5 feet wide, how tall is his statue if the statue is 4 feet wide? | )(': 25
22)IfmVYv=m?—v, and —4V x = 14, fmd xM } 7\% ) R
23) If i% = —1, find i°i'8,i%4,i35 ( -=\
24) Lemon tea is made of Iemanjmce and tea How much Le‘,mon juice should be added to 18 L of tea so that the

mixture is 85% tea? L_ﬂ L € \erron \)\)U\\
25) Solve 2x3 — 3x2 — 6x = —9 (x'd’é)wi:um
26) Find the sum of the solutions of 3%2 = 16x +5= et 3
27) Find the slope of a line perpendicular to 3x - 5y =8. ‘ 5 '1

28) f() = 2x =5, () = ~8~x, find g(f(x)), find F(g(-3) [-3%-2} ‘;h;g; ]

*3 2

,,.rr

30) f(x) =2x+6, glx) = —x—4, h(x) = —3x +.10, fmd [g(x) — f(x)] - h(x) “!\( L= w
31) Expand and simplify (2 —4i)(3 —5i) "~ |- A}u
32) f(x) =2x -5, g(x) = —x—4 find %fi((si)) 3l \
33) f(x) = x2 —4x + 2, g(x) =x% +3x — 4, find 2f(x) — g(x 7\9 ~ \\7(1"(?3

34) Simplify (4i)? EES )L'.'W_ - T

L
35) Tom reads x pages a day, Jerry reads 3 more pages a day. It takes Tom 14 days to finish a book, while it only 7/0V“ 5)('”{:1‘,
takes Jerry 11 days to finish the same book. How many pages a day does each person read? ; k}‘ K Jg
36) Given the coordinates (4,8) (2, -2), ' J, e

a) write and equation of a line thru those 2 points? e ¥ -\

o
b) what is the distance between those 2 points? “’-'6[;_1 { kr”}‘
1! \_j



v

1
V.i'\ =

T

c) whatis the midpoint of those 2 points? \{6, QH h __r’*
d) find a slope of a line that is Parallel to the line thru those 2 points? Perpendicular? kll =S 1= 3

37) Are the following arithmetic, geometric, neither: —
a) -3,-6,-9,-12........ AV ENIVeRh €
b) 40,-20,10, -5, . GROOENNC

38) Your truck gets 16 miles per gallon for gas. If you drive 200 miles to Wally World, and gas costs $2.05 a gallon,
find the cost to drive to Wally Worll{.@_é)j 3

39) Find the 11" term of 3, 6,9, 12........ | 32

40) 10 juniors avera an 80 on the last test, while 18 seniors averaged an 88. What was the average of all 28
students? (—Bi

41) You average a 77% on the last 3 tests, what do you need to score on the next test to average a B (80% '807

42) Graphy = x2 + 4x + 3 label the vertex, x-intercepts, and y intercepts V¢ ( A “D Xk § - ’{,' ‘2\\:\—}'12)
' Y

43) Solve for x: —(x 4H)2-8=1 A= ?»}

46) Solve for x if 4x(2x — 5)(3x+7)—0 K= O; ﬂ 13, A= “732
47) Solve for k: x:kxg—)iz (x+4) m -

48) 10 less than twice a number is 20% of that same number. What is 3 times that number? "

49) Taking a road trip to see the largest ball of twine, the ratio of miles spent on the highway to miles spent on the
back roads was 2:3 . If the total trip was 375 miles, how many miles did you spend on the highway? [ @S0 milo=

50) You have $200 to spend on an cell-phone that costs 120 pesos. If $3= 2 pesos, how many DOLLARS will you have
left after buying the phone? (BQ_\ .

s1)Ifa=2,b=2%,c=13, find g 3«9/3%!

52) Solve for x if 12=23 (a+x)\/{o -0 = A \

53) Solve for x if ——17 = fi X= ﬁ—\) f\

54) You purchase $4O worth of pancakesat IHOP, then use a 15% off coupon. If tax, which is 7%, is taken after the
coupon, how much will you tip from the final total if you tip 18%?@ 8 ((’3 b

55) What quadrant would you find the coordinate (-3,4)? T

56) What quadrant(s) would you find the line 2x-3y=9? 1= ,E»E
57) If d= 3b+5c and b= 2c-4, find d when c=5. [ 4.2

60) Simplify fully 5x+6 é\i‘{’ ;3\ o

61) Solve for x: Z%x—%zlg )(‘-’2" \ -

62) Simplify fully 2% 24 l” s> g\(}(,g) X-X) | 9(7( “’ol \}
== M—/

Q
63) On a 50 question exam, made up of 20 multlples'ﬁmce questions, and 30 free response questions, you get 15%

of the multiple choice questlgﬂiWIQngl and The free response you get 2 of the questions correct. What was your

final grade on the test? \T =70 i{ :
64) If you increase $42 by 15%, t %en decrease that new amount by 20%, how much would you hav '% ?)?5 ab L‘l\)
N e e 3(27 R
65) Slmpllfy\/ﬁ:4 =



66) The ratio of length to width-of a fencedmectangular garden is 2:5. If the perimeter of the garden is 56 feet,
find the area of the garden!. b()@')’e% i

67) The population of students at Polk ngh was at 1,200 students this year. The year before was 16% less than this
year, and next year is expected to be Zuénere than this year. Find the difference of the number of students
from last year to next year\l’\@[O JAnd

68) Simplify  2V12-3v6 = (o{ )) (0 (Of

2x°y "z /
(4x7y~223)(3x2 y—3z>e ) .

71) Write in radical form x4 ys zs \}A @ %{w" “':x.,:fZ'{"( iy l/(, = —
, YR { /

e

69) Find 16+ = ‘ﬁ} L,zz) \
3.,—4.,8 ——

70) Simplify Ik xé \

72) Simplify and write the answer inradical form

2
73) Write in exponential form Va3 :/’)Z:T‘S/}

74) Find log, 8 — log,¢4
3
75) Expand log, st\/_

m2
76) Condense 2logx + glogry —3logz + %logw

77) Solve 4* = 8 4i = L\ " (/ '5 \

78) Solve 3% = —21—7 = 3 x \ P \h
79) Given a right trlangle with a leg of 8 eet and hypotenuse of 12 feet, find the length of the other leg. é | J

80) A ladder that is leaning against a house makes an angle of elevation of 30 degrees with the ground. How far i Q;

the base of the ladder from the base of the house? =

81) Find all angles of a right trlangle with sides of 3, 4, 5.
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25)  ArZ-3%> -4 +9=0

% 3% oy +5=0
X?(?x_g ~3(9x-?) =0 X-5 X=.33
(X=3)( ax-8)=d <+.33

=z X= £

5{\,{‘*}‘4@\
2| w—IOU‘\&b\‘@OUL
b~ 35 L—20
- |4-9aL,
Q) -5 -(a-H B
(4-9) (=12-S A
13) axd -k oy
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